UPSC CIVIL SERVICE PRELIMS EXAM 2023

1 in which one of the !'l'rll-':-1l|.'1ﬂ“ regions wne 4 Which

'Y phanyakataka, which flourished s
A preminent Buddhist cenire undes
the Mahasanghikns, located?

one of the Mblowing sxplains
the practice of Yattakirutal' as
mentioned In Sangsm poama?

fa] Kinga smploving women

e
fa) Andhirm bl wunrds
B Learmed pErsoTiN ansembling n
fh) Oandhara roval courta o discuss religious
and philosophical matters
ficl  Kalingm fe) Young girls keeping walch over
agricultural fields and dTIVING awny
fd] Magadha birds and animals

et A king defented in a baille
committing ritual  sulcide by
4. With reference to ancient India, consider starving himsell to death

the following stalements ;

8. Consider the flollowing dynasties
1. '_J.'h: concept of Stupa is Buddhist § o S
in origin.

2. Gahadavala

2. Stupa was generally a repository 3.  Kakativa

of relics.
, i 4, Yadava
3. Stupa was a volive _
i i i many of the above dynastics
g:ﬁ:ﬁtnit:lﬁnn. oLl " :aﬁ:’bﬁahed their kingdoms in early
eighth century AD?
Onl
How many of the statements given (a) ﬂny ﬁ
above are correct? fb) Only
fe} Onmly three
fa) Only one (d] None
6. With .rel’tr:nm: to ancient Indian History,
il consider the following pairs :
e Literary work Authar
(@] MNone 1. Demchandragupta : Bilhana
2. Hammira-Mahakavya : Navachandra Suri
3. With reference to ancient South India, 3, Milinda-panha : Nagarjuna
E:r“hl. Pu-nl:ruhnr and Muchiri were 4. Niti \ e il
i H many of the above pairs are
(a) capital cities ow n}; .
fb) ports fa] Only one
(b} Only two
fc) centres of iron-and-steel making o
{d) shrines of Jain Tirthankaras {d) Al four
DTG-F-GST/62B 3 1P.T.0.
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i *Souls are nol only the property of
animal and plant life, bul alse ol rocks,
running water and many other natural

pljects not looked on as living bw othet
Humnul wecin.”

The above stalement refllects one of
the core beliefs of which one of the

following religlous sects of ancien
India?

ja} Buddhism
fb) Jaimism

fe) Shaivism
fd] Vaishnavism

the following mlers of

r %ﬂm Empire constructed a

large dam across Tungabhadra River

and a canal-cum-agueduct several

kilometres long from the river to the
capital city?

fa) Devaraya |
fb) Mallikarjuna
fe) Vira Vijaya
{d) Virupaksha

L

9. Who among the following rulers of
medieval Gujarat surrendered Diu to
Portuguese?

fa)] Ahmad Shah
{5) Mahmud Begarha
{¢) Bahadur Shah
(d) Muhammad Shah
. By which one of the following Acts
& B:ranwthe ﬂ;-:rtemur General of Bengal

designated as the Governor General
of India?

jaj The Regulating Act
(b} The Pitt's India Act

11. In essince, what does Thue Process of

Law meand

fa) The principle of natural justice
(b} The procedure established by law
fe)  Fair application of law

el Equality before law

12. Conmder the following statements

Statemeni-]
in India, prisons are by
State Governments with their own
rules and regulations for  the
day-to-day administration of prisons.
Sratemeni=11 :
In India, prisons are governed by the
Prisons Act, 1894 which expressly
kept the subject of prisons in the
control of Provincial Governments.

Which one of the following is correct in
respect of the above statements?

ja) Both Statement-] and Statement-{I
are correct and Statement-11 ia the
correct explanation for Statement-|

(b Both Statement-] and Statement-l
are correct and Statement-11 s

not the correct explanation for
Statement~l

fc) Statement-l is correct but
Statement-Il is incorrect

fd) Statement-l is Incorrect but
Staterment-1] is correct

13. Which one of the following statemenis
best reflects the Chief purpose of the
‘Constitution’ of a country?

It determines the objective for the
¢ making of necessary laws.
b} It enables the ereation of political
" offices and 8

fc) it defines and limits the powers of
government.

{¢) The Charter Act of 1793 {d) 1t sec ﬂ_ﬁ_,m;m_
|PT.0
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India, which one of the following
Constitutional Amendments was widely
believed to be enacted o overcome

the judicial interpretations of the
Fundamental Rights?

fal  1st Amendment

fb) 42nd Amendment
fe)  44th Amendment
jed] BGth Amendment

Consider the following organizations/

bodies in India :

1. The National Commission for
Backward Classes

2. The National
Commission

3. The National Law Commission

4. The National Consumer Disputes
Redressal Commission

How many of the above are

constitutional bodies?

fa) Only one

b Only two

jcj Only three

fd) All four

Consider the following statements :

1. If the election of the President
of India is declared void by
acts done by him/her in the

rmance of duties of his/her
office of President before the date
of decision become tnnﬂd-d "y

2. Election for the post
President of India can be postponed
on the ground that some Legislative
Assemblies have been
and elections are yet to take place.

3. When a Bill is presented to

President of India, the Constitution

pmmﬁmuﬂmm-ﬂthhwm

assent.
Hnwmanyniﬂwnhuwmmnnhlﬂ

b correct?
o
 Allthree
(d} None

Human  Rights

17. With referencs 6 Pinance

Hill n the Indian Parlin
the following siatemeniy

BN wmd Mugey
MeM, conmder

| When the Lok Sabka transemits
Finance Bill w ks Rajyn Sabha
it can smend or reject the Bl

2, When the Lok Sabha trmriminits
Money Bill 1o the Rajya Sabiha
it cannat amend or reject the EI..I,[._
it ean only make recommendatinns

3, In the case of disagreement
I;:-r.t_vm:n the Lok Sabha and the
Hajya Sabha, there s no joint

sitting for Money Bill, but a joint
aitting becomes necessary for
Finance Bill,

How many of the above statementa are
correct?

ja) Only one
fb) Only two
fc) All three
fed] None

18, Consider the following statements :

Once the Central Government notifies
an area as a Community Reserve’

1. the Chief Wildlife Warden of the
State becomes the governing
authority of such forest

2. hunting is not allowed in such area

3, people of such area arc allowed to
collect non-timber forest produce

4. people of such area arc allowed

traditional agricultural practices

How many of the above stafcments &=
correct?
() Only one
(b) Only two
fe) Only three

| P.T.O,
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1\ With mfem““ -

:“[llﬂ:'::::‘l“l nldﬂgr ET;:;-"!'dI IA"'" 21
I w‘thiﬂ a l-le h 2 ] bﬂ"lin ' t“ﬂ“ml_“l‘ 1.'* IEI"”‘““'”‘ ‘Iﬂ-“'ﬂ'lﬁl‘l‘l‘.
an n 1 the ny - Sinbe e
N Se at -
F‘II-.-‘:" th_mu;ml;hﬂdullﬂd H.m Hll:h n* Iﬁ"l]* rtr!h!f hﬂ"-"“'l.l i
President AN Order of W deposite, depends on coml for 'mrm"r?
2. The B s ] Ha electricity produrs tisn e
forming the Hﬂhuﬂ.ﬂ?mmm‘ il Statement-|
District LT T o Areg the Uranium, enriched o the extent of
cluster of v lowent in ol leamt 60%. s required 1
3, The Chi ru'-ll.' in the Hloel v Production of el L
: e Hh‘“.m 3 on ol elecireiny
concerned " o
sakonl afnug) r"‘l“hdth[: Which one of the following is correct (n
Union Mie . ,_.ﬁ the reapect of the above statements?
administration of &m't'-'" the fa) Both Statement-l and Statemeni-i1
in the Stateg, "J“' Aresn are ocorrect and Statement-1l is the
How ma

ny of the aboye stat 2
Ements are

cofrect explanation for Statement-|

correct? b} Both Statement-1 and Statement-1i
fa} Only one are correct and Statement-1l |s
fb} Only two not the correct explanation for
fe All ’ Statement-]

- three

fd) Nene fe} Statement-I s correet  but

20. Consider the fnlhm.ng statements :

Statement-] :
The Supreme Court of

Statement-1 is incorrect

i) Statement-1 s  imcorrect  but
Statement-I1 is correct

b e j'-"l “mi that ?ﬂ 22. Consider the following statements :
rr?cﬁh{‘;m of the Ehi]l'”l “ﬁmﬁl} Et:.'mtl-lr ;

India would h! 'H. Article 135 Hidia prals are no I:'b&[‘l.lﬂlbl' found in
for maintenance of efficiency of 3 ;

edministration, tatement-1I :

Etﬂtrnmnt—ll

Marsupials can thrive enly in montane
grasslands with no predators.

Which one of the following is correct

in respect of the above statements?

fa) Both Statement-] and Statement-11
are correct and Statement-1l is the
correct explanation for Statement-|

Both Statement-1 and Statement-I1
are correct and Statement-11 is

not the correct explanation for
Statement-1

fe] Statement-] is correct but
Statement-1l is incorrect
incorrect  but (@ Statement-1 is incorrect but
. Statement-1l is correct

Which one of the

correct explanation for Statement-1 ib)

fc) Statement-] is correct but

| P.TO.
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fell

Lion-tailed Macas

= build .

2, Mmmmmm
nuts and sceds in the ground,

3 They are omnivorous.

fa} Only one
el Al three
{d) None

s,

»



consider 1he following stateimieriin

AL Consider the following siatemerny -
1. Somr Microorganinme cun

Rrow L. Jhen
in envirenments with temperntyre thlrm F:rwer rasses  through
above the boiling point of water, 2. Krishna River directly fonds e
2. Some microsrganisma can Lake
in emvironimenty

3 Meandering  of Gundak  Frver
E point of water,

formed Kanwar Lake
ninms  can grow
in highly acidic

How many of the wlatemnniy r
a pH below 3. Fivironment with above are correct? »
(e} Only one
How many of the above statementy are b Oty two
il fel Al three
foj Only one fe] Mane
o) Oty i 32, Consider the following pairs -
fe) All three e dhd 3
I e 1. hm;rnjnrl’m.ﬂmmantpmhluﬁl
regstered as & company
Which ane of the following makes a toq] : .
w’ll.hlilﬁﬁh._-w.hmm 2. Mundre Port mwm
n hele in & tree or a log of wood? = L
i : 3. Vi inam . Largest container port
fo) Fishing cat Fﬂll:klm o
e How many of the above pairs are
o Okt correctly matehed?
: fb} Only two pairs
30. Consider the following : e Al
1. Aerosols ' fd} Mome of the pairs
2 I"'!“. 33. Consider the following trees :
3. Bire tetudents | 1. Jackiruit (Artocarpus heterophylhiss
4 L“b'm _._I_;. 2, MIlﬁmﬂmnﬁnﬂ
i - ilﬁ - 3. Teak (Tectona grandis)
i e, o -1 i .
fa) Only one
fbl Only two
fe) Al three
id} None
: | T.0.
13



15. which

(‘.n-n#{drr the Tollowing statementy -

[rdin has mMore arml
l. sle aren )

China
rhe proportion of ir
< more in India as ﬁg::d gﬂ in
China pa 1
g, ‘The RVETEES productivity  per

pectare in  Indian
higher than that in Emh:::Itum in

r I 0
rﬁ"‘:rré?; ny of the above statements are
fiaz] Only one
fbl Only two
iel All three
(dj None

one of the following is the best
xample of repeated falls in sra level,

giving rise 1o present-day extensive
marshlmd?

ja) Bhitarkanika Mangroves
il Marakkanam Salt Pans
fe} Naupada Swamp

(] Rann of Kutch

36. Ilmenite and rutile, abundantly available

cnanhltmr:tlnf'hdil-.m

in certain ts dia
which one of the

rich souUrces of
following?

fa) Aluminium
fy) Copper

fe) lIron

td) Titanium

is produced by

fal Argentina

(6] Botswana ok A

fc) the Der . Republic of the
Cango

Which one of the lollowing I8 & part of
the Congo Basin?

jaj Cameroon
b  Migens
je} South Sudan

jd) Uganda

Consider the following atatrmenis

1. Amarkantak Milia =re ot the
confluence  of Vindhya  and

Sahyadri Ranges

7. Biligirfirangan Hills constitute the
easleTIIMOST part of Satpura Hange

3. Seshachalam Hills constitule the

southernmost part of Western
(ihats,
How many of the statements gven
above mre correct?
fa) Only one
Jbj Onmly two
fc) Al three
fd) None
40. With reference 10 India's projects on
connectivity, ~consider the following
statements °
1. East-West Corridor under Golden

Quadrilateral Project connects
Dibrugarh and Suratl.

2. Trilateral Highway connects Moreh
in Manipur and Chiang Mai in
Thailand via Myanmar.

- Ennﬂndﬂh—l:hinl-hﬂil-u_unmar
Economic Corridor connects
Varanasi in Uttar Pradesh with
Kunming in China

(PT.O.

23 SUMMIT 1AS

e O ey,



op the following statementy |

{p.ﬂ-"l'nr"rt i i i
ret 8 rcame roim
In{nlnmnl:'mrt Inﬂit:'jn‘:hldﬂmh
&) distributed to their inve Trusts
d from tax, but T_htd“-;;:‘r; I8
in

i

fl ny

exempie

tANH ble
u!f-[ﬂ.[‘ n i=11

[Ts are recognized as bor
pnder the Securitization and Rec ™
gtruction of Financial Assets ::Ii
gnforcement of Security Interes
2002’ t -
which one af the following is co
respect of the above :-tntummu?m“ “
fal Both Statement=l and Statement-
are correct and Statement-II is uun
correct explanation for Statement-|
Both Statement-1 and Statement-1I
are correct and Statement-Il is

[y

)

Eml:m:m--l

ic) Gtatement-I i  correct Bt
Siatement=11 is incorrect

ficd} Statement=l I8 incorrect  but
cratement-l is comrect

43, Consider the following statements :

many Central
carried out interest rate hikes.

sratement-il =

Central generally assume '
they have .ﬁﬁﬁmgﬁﬁaﬁnﬁm

S1mcmnn1—-€ .
In the punt-puﬂtn:i# recent past,
that

43. Conskder the following stafements

Qg ement=l
o Bt markels are |
the ol wideaprend taols i the

agatnat clima te change

H!nTnmcm--l! i
Carbon mareels tranaler pranLrcaN
from the priva the Stats
of the fo

reapect of the above &t
meni-1 i Siatement- [

fa) Both Stale
are correct mn] ﬂmtcmnnt-ll ja the
correct explanation for Statement -1
| and Errntcmrnt—rT

i) Bath Statement=
are correct and Emmrru:m—ET in
fior

not the eorrect explanation

flkely to be oTE ol

fight

pg mecior [

Ihrwing 18 corract i

Which ongé r
F‘IE.I"I'II'I'III rd

Siatement-=l
jcl Gratement—I js correct bt
Emt,-.-.ment—u is incorrect
is jncorrect bt

it} Buttrnent—l
giatement=1 |s correct
44. Which onc af the following activities of
the Reserve Bank of India is considered
to be part of sgrerilization?

fal Conducting Open Markel
E]‘FE'I'H‘LII'.IHS-'
¢t aof settlement and

(b}
nt sysicins

jc) Debtand cash management for the
Central and State Governmenis

fd) Regulating the functions of Nom-
banking Financial Institutions
45, Consider the following markets -

1 ﬁuwrl‘lm!mt Bond Market

2, Call Money Market

3. Treasury Bill Market

4, Stock Market

How of the above arc included

many
in capital markets?

| R.T.O.
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hich one of the rnllu.wm

the concopt ol 'ElﬂHII. [I.ﬂ::r:lr.ltrﬂn;‘

Fiehd © Argn

ta) [-|::.~5r'l11-|‘rr:rl1l of In
of people, UPToote "?E'I: PIN Ty by
counines dus o wa o Theiy
. -

them a large cultivahle Rivin

they cultiv le lang gy &
5 mle allectiye) Which

the produce Y &nd shype

bl Many marging) la
s Mhier,
organize themaslyeg ?n:l._-: o aren
ancl synchronjes ar Srotipg
selecied E,E,ri'l:u!t'l.ira.l

fe) Many ma

their land to the gq

for a fixed term mﬂr;}:h'iﬂtﬁr
corporate body males 5 Payme :
of agreed amount tq frm o

(d} A company extends loans .
knowledge and material et ond

by the company for its
commercial production

47. Consider the following statements

1. The Government of India provides
Minimum Support Price for niger

2. Niger is cultivated as a Kharif crop.

3. Some tribal people in India use
niger seed oil for cooking.

How many of the above statements are

correct?

faj Only one

fb) Only two

fe)  All three

@) Nope a0 S A

AR

Lonsider (he investmenis ity the following

LLE ]

i Brand recognition

£ lreerteney

J el bl piraperty
. Mailing list of clienis

How many of the above are comaidered
minngible mvestmenis?

fa)  Unly one
fb)  Only two
el Only three
(e} Al foar

49. Consider the following

l.  Demographic performance
2. Forest and ecology

3. Governance reforms

4

]

- Stable government
8. Tax and fiacal eifarts

For the horizontal tax devolution. the
Fifieenth Finance Commission uwsed

how many of the above as criteria

other than population area and income
distance?

faj Only two
i Omly thres
el Only four
fd) ALl five

50. Consider the following infrastructure

aectors |

1. Affordable housing

4. Masse rapid transport

3. Health care

4. Renewable energy

On how many of the above does
UNOPS Sustainable Investments in

Infrastructure and Innovation [53i)
initiative focus for its investments?

fa) Only one
(b} Only twe
fe} Only three
fdj Al four

| PT0.



4, With mfr-'ﬂ-:_hhu ta He
the ﬁ:-]]nu.m'.; Biag

B ﬂulm
CMengy , W, Chnmgy
I. Home Ciumrd a + -

Home Gy T Fhinng

the Cr-n'rr-ﬂi:rg;:‘::: ang “‘;ﬁ:l:r‘lhn

2. The role gof the H:::L i
o serve An p Gy

the  police o "Uxiliapy ;::f;

mtermal eCurigy, l'l'llinllrnqm. of

3. ;I;ul Preveng '“m"'iﬂnn

ETNAliong| h“"'ﬂ!l‘fnﬂ. oan g

the E_vﬂ'rdur wln't H Sta} .-u....
Battalions ha Ome g

r

Unrg
some States, = UM raigeg in
How many of

correct? i Sbove Statementy are
fa) Only ong

(b} Only two

fe)  All three

fdj None

52. With reference tg . Cotiald
following HalL India, consider the

1. Unauthorized wearing mm Secrets
uniforms

offcer or EnBEGERSSS L s
in their d e, "’“"' :

Conmidar iy Billowitig paiey
Rogpiom,
( entonad iy PO Sy i
North Kivy and lrup War h'ru'::ﬂ:
-'l.l‘l'l:l!;h Ll
2. H-mrﬂmllnhkh Insurgeney, i ;
i Mo by, .
- Kherson T Dhisprute betweey
Laparizhzhin InTael and Lt

How many of the above pairs
correctly matched? g -

fal Only one
(b} Cmly twe
fe) Al three
id] MNone

Statement-11 :

The ‘Arab Peace Initiative’ mediated by

Saudi Arabia was signed by lsracl

Which one of the following is correct

in respect of the above statements?

; oth Statement-1 and Statemeni—il

fa) &?ﬂﬂﬂ' t and Statement-II is the
correct explanation for Statement-|

5o and -t
ot e comect cxplartion
Statement-1 but

B Swtest .




5. consider the [
1 SPArE Ewardy ;S Plngge
p Major Dhyan Chapg % "‘q .
Mowt

" khel Ratna Awarg o Consider the
Ule Ollowing pairs .
w L
m ] Areg
sty oo s Oy e
2. Arjuna Awarg ::rl M oy e Syvia
Tetime Ethinpin
Narth Yemen
How many of the above
m pairs  are
4. Rashtriya Khe) i
Protsahan
fa) Only one
1 m %m .“
@ Only o © Al
i) :
fel =

- ]

88. In the recent years Chad, Guines, Mai
< Mocsis % & dn






-|-|:|-I:f the lll:ﬂ.Tq‘.lN
= - '_ y
3 gttt . m
S AuBUST I8 declee
_-I':“-jm::m Day. "y

8s. Conmide,
u-r'--|-.‘]|t_" : M Teupact of the Constint g
..'-,..1: was 1n 1908 tha

lon Ty
(overment Wan gy ! the

] 4
ney By % The Constitution Day is celebrated
L on h ; Wk, Noverner SVEry :E:'f Loy Fﬂﬁ.:'
gich one of the g Statement.1)
s ceapect of the above b in M On Movember, 1940, the
il Both Statement.) and g _ 8 Drafting Cﬂ:ﬂ,t:l wldl:“ g
Hn_;i:tn:l:t Mdﬂhmw Eﬂh—mimmp of Dr. B. L Ambedksr
[l .
xplana for ' the prepare & Draft Constitution of
i) Both Statemeni il M india.
are COrrect _ . Which one of the following is correct
nt e mﬁ":& mmm.n in respect of the above statemants?
Statement—] ‘Planation ﬁ ja) Both Statemnent-] and Statement-il
) Statement-1

| b ne st
Statement-11 s W but i  and Sintemen 1
id) Statement-l g , -~ are correct and wh
Statement-1 is correcr | T DUt not the ctorrect explanation
. [ .-.-ﬂ- It [ - - !llfl i l m
-onsider the o ‘fe) Statement-l i correct
g L;Epcﬂ't of tF .'&:} ! i ‘Mt!u ’ll-:!tn'lﬂl -
cecording to the F ;| {d) Statemen incorrect
;[H]E : T - Statement-il is correct

statement=lz



q consider the M
[ L “N ,

qrglcmfnlt'"] 1

- Recently, the gy

(USA) and the ét“'“d Statey o
have launcheyq oPean

Technology Eﬂunﬂ;-th! M
gratemnent-il i
The USA and

-
the
hrough thi EU o
cenmologca ‘s, 7% ing
productivity undes ety e
which one of the Contro],
i respect of the ahoye ynk I corrc
jaj Both Statemen.; '-IH :mmh?

(b Bath Emw_;w

not S rTEe]
Statement-]
State - -dr- s
Statement-1I s
(d) Statement=]
Statement=il
68. Consider the following statements :
Statement-] : g
India accoun
export of
Statement-|

forigh
have

LHLA |
1

-]

jei

. Consider the following statements -

70.

The ‘Stability and Growth Pact’ of the
Europesn Union is a treaty that
L. limits the levels of the budgetary

deficit of the countries of the
European LUnion

2. makes the countries of the
European Union to share their
infrantructiire (moilities

3. enables the countries of the
European Union to share their
technologies

How many of the above statements are

carrect?

fa) Only one

fb} Cmly two



f! I. [ fgprim
cxech Republie
gy
Latvia

5 it T

& Romania

coun
Leraine?

ja) Only two

fef Only ftour

_side! the Eﬂllmuﬁ‘
! %
|

jow many of the abo,
tries share a w‘w

@ Only three Wiy
4 - . w.

TR Consider il Bollawing stafements

i —grer

nerl

. "nﬂuﬁ“mﬁul_mhm

" e w4
w.ﬂm

of  topical rain forests  CELRE

desd arganto matier in e soll i




T5. Conmider the ||1'.I-.'n'.|||p.g Wy
| In m R, Rim .
- . "Rran] .
rEcord e L 1T [ |11II||_rI, LR T Biw
. I ) Ave LT
,_I,L,, I:I'.“ " he Wiy, 3
-I. -nl'.':t-!:“ Bre] fy iy g el
3w |.-., «I 11r”'I'f"l-'.-llmn e
-_ II' I'“- Lhe r"“”il'll' Ty i
-I1.Ir|..L”w1' Al righy nuﬂ.]r”mr' .
(% Elly o) |'|l.'||'| [l | 1!"-11.'|'- I'||'|11'|._-.1_H.,1: Il'b rhf'
Ao,
Which ol the iy
I8 Are cormeptn 1|1:|:l'|rr-|1|| Biven |'|'|3H.|1.'r-
i1} | |'l|'||'|.
(2 only
fe! Both 1 and 2
el Neither | nor 2
T6. With reference 1o coal-haged
POWEr plants in India Consider the
following statements :
| None of them uses seawater
4. None of them B st up |p
waler-stressed districq,
4. None of them s privately owned,
How many of the above statements arpe
carrect?
fa) Only one
iy Only two
el All three
idl None
" is sometimes talked
T7. Walbachia method' is of
about with reference to which one
the following? ik
Controlling the
fa) mosquitoes
Converting crop |
i packing material .]"m.
t 'lldl'il. biochar |
fd] Prod biomass
chemical conversion of
XDTG-P-GST/62B

™ i
(LT} e | iy Teil] g
| L Tl S L
| e : Wilkry
7 LR M. BT E
i SN |
i} ] '-r||-||r|-1| ey » "“‘"“r"k
P, Iiep it
"|I|-.|I|| e Il||i|1||
ity »
b _"|,1|__|||. lirme LT F—
] [ S HLETT
1 T L '
8 Viiria e r'lnﬂrll
a1 T TIPS mnd Plutmpin
LT |l|=lI|I|-'||"'l'| ‘l-'l|-'-"l""'-I "'-""q
MINes {n (e form of CArtmng :
Walrry 7y
How mamy of the ahove ACTiViten ape
olten  considered AOE discussed o,
CArbon capture ang *equarstration )
(M) Only one
) Only twe
fel - Al three
fdl Mone
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. Which one of the following countries has
been suffering from decades of civil strife
and food shortages and was in news

in the recent past for its ve
camine? Y severe

fa) Angola

b) Costa Rica
fel Ecuador
jd) Somalia
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